On the Jacobsthal Numbers by Matrix Methods

Fikri Koken and Durmus Bozkurt

Selcuk University, Faculty of Art and Science Department of Mathematics, 42075, Kampus, Konya, Turkey kokenfikri@gmail.com, dbozkurt@selcuk.edu.tr

Abstract

In this study, we define the Jacobsthal F-matrix and Jacobsthal M-matrix similar to Fibonacci Q-matrix. After, using this matrix representation we have found the some equalities and the Binet-like formula for the Jacobsthal numbers.

Mathematics Subject Classification: 11B39; 11K31; 15A24; 40C05 Keywords: Fibonacci numbers, Jacobsthal numbers, Matrix method

1 Introduction

The Fibonacci, the Lucas numbers and their generalization have many interesting properties and applications to almost every fields of science and art. For the prettiness and rich applications of these numbers and their relatives one can see science and the nature [1, 5] and [7-17].

In [12], Silvester shows that a number of the properties of the Fibonacci sequence can be derived from a matrix representation. In so doing, he shows that if

$$A = \left[\begin{array}{cc} 0 & 1 \\ 1 & 1 \end{array} \right]$$

then

$$A^n \left[\begin{array}{c} 0 \\ 1 \end{array} \right] = \left[\begin{array}{c} u_n \\ u_{n+1} \end{array} \right],$$

where u_n represents the *n*thFibonacci number.

In 1960, Charles H. King studied on the following Q-matrix

$$Q = \left[\begin{array}{cc} 1 & 1 \\ 1 & 0 \end{array} \right]$$

in his Ms thesis. He showed that

$$\det(Q) = -1$$

and

$$Q^n = \left[\begin{array}{cc} F_{n+1} & F_n \\ F_n & F_{n-1} \end{array} \right].$$

Moreover, it is easy seen that

$$F_{n+1}F_{n-1} - F_n^2 = (-1)^n$$
 (Cassini's formula).

Above equalities demonstrate that there is a very close link between the matrices and Fibonacci numbers. More generally, there are some relations between the integer sequences and matrices [10, 15].

In [10], some properties obtained related Fibonacci and Lucas numbers by matrix method such that $m, n \ge 1$ as follows:

- i) $F_{m+n+1} = F_{m+1}F_{n+1} + F_mF_n$,
- ii) $F_{m+n} = F_{m+1}F_n + F_mF_{n-1}$,
- $iii) F_{m+n} = F_m F_{n+1} + F_{m-1} F_n,$
- iv) $F_{m+n-1} = F_m F_n + F_{m-1} F_{n-1}$,
- v) $F_{m+1}L_n + F_mL_{n-1} = L_{m+n}$,
- $vi) \ 2F_{m+n} = F_m L_n + F_n L_m,$
- $vii) \ 2L_{m+n} = L_m L_n + 5F_m F_n$

where F_n and L_n denote the *n*th Fibonacci and Lucas numbers, respectively. Furthermore, in [10] generalized characteristic equation and Binet formula for the Fibonacci and Lucas numbers using matrix method are given by

$$x^{2} - L_{n}x + (-1)^{n} = 0,$$

$$x = (L_{n} \pm \sqrt{5}F_{n})/2$$

and

$$\alpha^n = \frac{L_n + \sqrt{5}F_n}{2}, \ \beta^n = \frac{L_n - \sqrt{5}F_n}{2}$$

where

$$\alpha = \frac{1+\sqrt{5}}{2}$$
 and $\beta = \frac{1-\sqrt{5}}{2}$.

We know that the Fibonacci sequence is also a Lucas sequence $U_n(a,b)$ where a and b are equal to $(1+\sqrt{5})/2$ and $(1-\sqrt{5})/2$ respectively. That is, we notice that $a=\alpha$ and $b=\beta$ for Fibonacci and Lucas numbers [3, 4], [16] and [18].

Microcontrollers (and other computers) use conditional instructions to change the flow of execution of a program. In addition to branch instructions. some microcontrollers use skip instructions which conditionally bypass the next instruction. This winds up being useful for one case out of the four possibilities on 2 bits, 3 cases on 3 bits, 5 cases on 4 bits, 11 on 5 bits, 21 on 6 bits, 43 on 7 bits, 85 on 8 bits, ..., which are exactly the Jacobsthal numbers [19].

In [6], the Jacobsthal and the Jacobsthal-Lucas sequences J_n and j_n are defined by the recurrence relations

$$J_0 = 0$$
, $J_1 = 1$, $J_n = J_{n-1} + 2J_{n-2}$ for $n \ge 2$

and

$$j_0 = 2$$
, $j_1 = 1$, $j_n = j_{n-1} + 2j_{n-2}$ for $n \ge 2$

respectively.

In additation, the Jacobsthal numbers are the numbers obtained from the U_n in the Lucas sequence with a = 2 and b = -1. Similarly, the Jacobsthal-Lucas numbers are the numbers obtained by the V_n in the the Lucas sequence with a = 2 and b = -1 [4, 18].

The first eleven terms of the Jacobsthal sequence $\{J_n\}$ are 0, 1, 1, 3, 5, 11, 21, 43, 85, 171 and 341. This sequence is given by the formula

$$J_n = \frac{2^n - (-1)^n}{3}. (1)$$

The first eleven terms of the sequence $\{j_n\}$ are 2, 1, 5, 7, 17, 31, 65, 127, 257, 511 and 1025. This sequence is given by the formula

$$j_n = 2^n + (-1)^n [2]. (2)$$

In [6] Cassini-like formulas of Jacobsthal and Jacobsthal-Lucas numbers are given by

$$J_{n+1}J_{n-1} - J_n^2 = (-1)^n 2^{n-1},$$

$$j_{n+1}j_{n-1} - j_n^2 = 3^2 \cdot (-1)^{n+1} \cdot 2^{n-1}.$$

$$(3)$$

$$j_{n+1}j_{n-1} - j_n^2 = 3^2 \cdot (-1)^{n+1} \cdot 2^{n-1}. \tag{4}$$

In this study, we have defined Jacobsthal F-matrix by

$$F = \begin{bmatrix} 1 & 2 \\ 1 & 0 \end{bmatrix}. \tag{5}$$

It is easy to seen that, it can be write

$$\left[\begin{array}{c}J_{n+1}\\J_n\end{array}\right] = F\left[\begin{array}{c}J_n\\J_{n-1}\end{array}\right]$$

and

$$\left[\begin{array}{c} j_{n+1} \\ j_n \end{array}\right] = F \left[\begin{array}{c} j_n \\ j_{n-1} \end{array}\right]$$

where J_n and j_n are the *n*th Jacobsthal and Jacobsthal-Lucas numbers, respectively.

Furthermore, we have defined Jacobsthal M-matrix by

$$M = \begin{bmatrix} 3 & 2 \\ 1 & 2 \end{bmatrix}. \tag{6}$$

Throughout this paper, J_n and j_n denote the nth Jacobsthal and Jacobsthal-Lucas numbers.

2 The Matrix Representation of Jacobsthal Numbers

In this section, we present two different matrix representation of Jacobsthal numbers which is called Jacobsthal F-matrix and Jacobsthal M-matrix. Using this representations we obtain the determinants and elements of F^n and M^n , and we get Cassini-like formula for the Jacobsthal numbers. After, we calculated the generalized characteristic roots and Binet formula of the matrix F^n . Finally, we get sum formulas for the Jacobsthal numbers using these matrices.

Theorem 1 Let F be a matrix as in (5). Then

$$F^n = \begin{bmatrix} J_{n+1} & 2J_n \\ J_n & 2J_{n-1} \end{bmatrix}. \tag{7}$$

Proof. We will use the principle of mathematical induction (PMI). When n = 1,

$$F = \left[\begin{array}{cc} 1 & 2 \\ 1 & 0 \end{array} \right] = \left[\begin{array}{cc} J_2 & 2J_1 \\ J_1 & 2J_0 \end{array} \right]$$

so the result is true. We assume it is true for any positive integer n = k:

$$F^k = \left[\begin{array}{cc} J_{k+1} & 2J_k \\ J_k & 2J_{k-1} \end{array} \right].$$

Now, we show that it is true for n = k + 1. Then, we can write

$$F^{k+1} = F^k F = \begin{bmatrix} J_{k+1} & 2J_k \\ J_k & 2J_{k-1} \end{bmatrix} \begin{bmatrix} 1 & 2 \\ 1 & 0 \end{bmatrix}$$
$$= \begin{bmatrix} J_{k+2} & 2J_{k+1} \\ J_{k+1} & 2J_k \end{bmatrix}$$

and the result follows.

Corollary 2 For all positive integers n, following equalities hold:

i)
$$\det(F^n) = (-2)^n$$
,

ii)
$$J_{n+1}J_{n-1} - J_n^2 = (-1)^n 2^{n-1}$$
 (Cassini-like formula).

Proof. It is easy to see that

$$\det(F) = -2.$$

Then, it can be write

$$det(F^n) = det(F) \cdot det(F) \cdot \cdots \cdot det(F)$$
$$= (-2)^n.$$

The determinant of F^n in (7) and from (i), (ii) follows.

Theorem 3 Let n be an integer. The well-known Binet-like formula of the Jacobsthal numbers is

$$J_n = \frac{2^n - (-1)^n}{3}.$$

Proof. Let the matrix F be as in (5). If we calculate the eigenvalues and eigenvectors of the matrix F are

$$\lambda_1 = 2, \ \lambda_2 = -1$$

and

$$v_1 = (2, 1), v_2 = (-1, 1),$$

respectively. We notice that eigenvalues of the matrix F are seen

$$\lambda_1 = a, \ \lambda_2 = b$$

as in [18]. Then, we can diagonalize of the matrix F by

$$D = P^{-1}FP$$

where

$$P = (v_1^T, v_2^T) = \begin{bmatrix} 2 & -1 \\ 1 & 1 \end{bmatrix}$$

and

$$D = \operatorname{diag}(\lambda_1, \lambda_2) = \begin{bmatrix} 2 & 0 \\ 0 & -1 \end{bmatrix}.$$

From the properties of the similar matrices, we can write

$$D^n = P^{-1}F^nP$$

where n is any integer. Furthermore, we can write

$$F^n = PD^n P^{-1} \tag{8}$$

where

$$D^n = \left[\begin{array}{cc} 2^n & 0 \\ 0 & (-1)^n \end{array} \right].$$

By (7) and (8), we get

$$\begin{bmatrix} J_{n+1} & 2J_n \\ J_n & 2J_{n-1} \end{bmatrix} = \begin{bmatrix} \frac{2 \cdot 2^n + (-1)^n}{3} & \frac{2 \cdot 2^n - 2 \cdot (-1)^n}{3} \\ \frac{2^n - (-1)^n}{3} & \frac{2^n + 2 \cdot (-1)^n}{3} \end{bmatrix}.$$

Thus, the proof is completed.

Consequently, limiting ratio of the successive Jacobsthal number is

$$a = \lim_{n \to \infty} \frac{J_{n+1}}{J_n} = \lim_{n \to \infty} \frac{((2^{n+1} - (-1)^{n+1})/3)}{(2^n - (-1)^n)/3}$$
$$= 2$$

Theorem 4 The generalized characteristic roots of F^n are

$$\lambda_{1,2} = (j_n \pm 3J_n)/2$$

where λ_1 and λ_2 denote the characteristic roots of F^n . Then,

$$J_n = \frac{2^n - (-1)^n}{3}$$
 and $j_n = 2^n + (-1)^n$.

Proof. If we write the characteristic polynomial of F^n , we get

$$\det(F^{n} - \lambda I) = \lambda^{2} - (J_{n+1} + 2J_{n-1})\lambda + 2(J_{n+1}J_{n-1} - J_{n}^{2})$$

= $\lambda^{2} - j_{n} \cdot \lambda + (-2)^{n}$,

by identities $J_{n+1} + 2J_{n-1} = j_n$ and $J_{n+1}J_{n-1} - J_n^2 = (-1)^n 2^{n-1}$. Thus, the characteristic equation of F^n is

$$\lambda^2 - j_n \cdot \lambda + (-2)^n = 0 \tag{9}$$

and we get the generalized characteristic roots as following:

$$\lambda_{1,2} = \frac{j_n \pm \sqrt{j_n^2 - 4(-2)^n}}{2}.$$

Since $j_n^2 - 4(-2)^n = 9J_n^2$, it can be write $\lambda_{1,2} = (j_n \pm 3J_n)/2$. Consequently,

$$a^n = \frac{j_n + 3J_n}{2}$$
 and $b^n = \frac{j_n - 3J_n}{2}$.

Thus, we give the Binet-like formula by matrix method for the Jacobsthal and Jacobsthal-Lucas numbers given in (1) and (2) by

$$J_n = \frac{2^n - (-1)^n}{3}$$
 and $j_n = 2^n + (-1)^n$.

We know the matrix equation in (7), then we can write,

$$\frac{F^n}{J_{n-1}} = \begin{bmatrix} \frac{J_{n+1}}{J_{n-1}} & 2\frac{J_n}{J_{n-1}} \\ \frac{J_n}{J_{n-1}} & 2 \end{bmatrix}.$$

Since $\lim_{n\to\infty} (J_{n+1}/J_n) = a$, it follows that

$$\lim_{n\to\infty}\frac{F^n}{J_{n-1}}=\left[\begin{array}{cc}a^2&2a\\a&2\end{array}\right]=\left[\begin{array}{cc}a+2&2a\\a&2\end{array}\right].$$

If we compute the determinant of both sides, we reach the characteristic equation of the Jacobsthal F-matrix as follows:

$$a^2 - a - 2 = 0$$
.

Theorem 5 Let M be 2×2 matrix as in (6), then

$$M^n = \left[\begin{array}{cc} J_{2n+1} & 2J_{2n} \\ J_{2n} & 2J_{2n-1} \end{array} \right]$$

for $n \geq 1$.

Proof. It can be show easily by PMI. ■

Corollary 6 For all positive integers n, following equalities are valid:

- i) $\det(M^n) = 2^{2n}$
- *ii)* $J_{2n+1}J_{2n-1} J_{2n}^2 = 2^{2n-1}$.

Proof. Proofs are easily seen similar to Corollary 2.

Theorem 7 For any integer $n \geq 1$,

$$\sum_{i=0}^{n} J_i = \frac{1}{2}(J_{n+2} - 1).$$

Proof. When n = 1, equation (9) becomes $\lambda^2 - \lambda - 2 = 0$, which is the characteristic equation of Jacobsthal F-matrix. Notice that $F^2 - F - 2I = 0$ (from the Cayley-Hamilton Theorem).

Now, we have following equation

$$(I + F + F^2 + \dots + F^n)(F - I) = F^{n+1} - I.$$
(10)

Since $\det(F-I)=-2\neq 0, F-I$ is invertible. Since $F^2=F+2I$ and $F^2-F=2I$, we can write F(F-I)=2I. Thus, $\frac{1}{2}(F-I)=F^{-1}$. If we multiply both sides of equation (10) by $(F-I)^{-1}=\frac{1}{2}F$ we get

$$I + F + F^2 + \dots + F^n = \frac{1}{2}(F^{n+1} - I) \cdot F$$

= $\frac{1}{2}(F^{n+2} - F)$.

Equating the (2,1) entry of both side, we have

$$\sum_{i=0}^{n} J_i = \frac{1}{2}(J_{n+2} - 1).$$

This completes the proof. ■

Theorem 8 Let n and k be a positive integer. Then, following relation between the Jacobsthal and Lacobsthal-Lucas numbers

$$j_{n+k} = J_{k+1}j_n + 2J_kj_{n-1}$$

is valid.

Proof. From the definition of the Jacobsthal-Lucas numbers,

$$\left[\begin{array}{c} j_{n+1} \\ j_n \end{array}\right] = F \left[\begin{array}{c} j_n \\ j_{n-1} \end{array}\right]$$

can be written easily. If we multiply both side with F^k , we get

$$F^{k} \left[\begin{array}{c} j_{n+1} \\ j_{n} \end{array} \right] = F^{k+1} \left[\begin{array}{c} j_{n} \\ j_{n-1} \end{array} \right].$$

Using (7) we obtain

$$\begin{bmatrix} j_{n+k+1} \\ j_{n+k} \end{bmatrix} = \begin{bmatrix} J_{k+2}j_n + 2J_{k+1}j_{n-1} \\ J_{k+1}j_n + 2J_kj_{n-1} \end{bmatrix}.$$

Thus, the proof is completed.

Theorem 9 Let m and n are positive integers. Then, following equalities are

- i) $J_{m+n} = J_m J_{n+1} + 2J_{m-1} J_n$,
- *ii)* $J_{2n} = J_n J_{n+1} + 2J_n J_{n-1} = J_n j_n$,
- $\begin{array}{ll} iii) \ J_{2n+1} = J_{n+1}^2 + 2J_n^2, \\ iv) \ (-1)^n \cdot 2^{n-1}J_{m-n} = J_mJ_{n-1} J_{m-1}J_n. \end{array}$

Proof. Let the matrix F as in (5). Since $F^{m+n} = F^m F^n$, we can write

$$\left[\begin{array}{cc} J_{m+n+1} & 2J_{m+n} \\ J_{m+n} & 2J_{m+n-1} \end{array} \right] = \left[\begin{array}{cc} J_{m+1}J_{n+1} + 2J_mJ_n & 2(J_{m+1}J_n + 2J_mJ_{n-1}) \\ J_mJ_{n+1} + 2J_{m-1}J_n & 2(J_mJ_n + 2J_{n-1}J_{m-1}) \end{array} \right].$$

Thus, equalities (i), (ii) and (iii) are easily seen. If we calculate F^{-n} , we get

$$F^{-n} = \frac{1}{(-2)^n} \begin{bmatrix} 2J_{n-1} & -2J_n \\ -J_n & J_{n+1} \end{bmatrix}.$$

Since $F^{m-n} = F^m F^{-n}$, we can write

$$\begin{bmatrix} J_{m-n+1} & 2J_{m-n} \\ J_{m-n} & 2J_{m-n-1} \end{bmatrix} = \frac{(-1)^n}{2^n} \begin{bmatrix} 2(J_{m+1}J_{n-1} - J_mJ_n) & -2(J_{m+1}J_n - J_mJ_{n+1}) \\ 2(J_mJ_{n-1} - J_{m-1}J_n) & -2(J_mJ_n - J_{m-1}J_{n+1}) \end{bmatrix}$$

and (iv) immediately seen. \blacksquare

This study is the part of Ms. Thesis of Fikri Koken.

References

- [1] A. Benjamin and JJ. Quinn, The Fibonacci numbers exposed more discretely, Math Mag 76(2003), 182–92.
- 2 Z. Cerin, Sums of squares and products of Jacobsthal numbers, Journal of Integer Sequences, Vol.10(2007), Article 07.2.5.
- [3] C. Cooper and M. Parihar, On Primes in the Fibonacci and Lucas sequences http://www.math-cs.cmsu.edu/~curtisc/articles/primeslucas3.pdf.
- [4] L. E. Dickson, Recurring Series; Lucas, Ch. 17 in History of the Theory of Numbers, Vol.1, Divisibility and Primality. New York, Dover, (2005) pp. 393-41.
- [5] V. Hoggat, Fibonacci and Lucas number, Palo Alto (CA). Houghton-Mifflin (1969).
- [6] A. F. Horadam, Jacobsthal Representation Numbers, Fibinacci Quarterly. 34(1996), 40-54.

- [7] D. Kalman, Generalized Fibonacci numbers by matrix methods, The Fibonacci Quarterly 20 (1)(1982) 73–76.
- [8] E. Karaduman, On determinants of matrices with general Fibonacci numbers entries, Applied Mathematics and Computation 167(2005) 670–676.
- [9] E. Karaduman, An application of Fibonacci numbers in matrices, Applied Mathematics and Computation 147(2003) 903–908.
- [10] T. Koshy, Fibonacci and Lucas Numbers with Applications, John Wiley and Sons, New York, 2001.
- [11] M. Livio, The Golden ratio: The Story of Pi, the world's most astonishing number, New York: Broadway Books, 2002.
- [12] J. R. Silvester, Fibonacci properties by matrix methods, Mathematical Gazette, 63 (1979), 188-191.
- [13] A. Stakhov, The Golden section in the measurement theory, Computational and Applied Mathematics (1989), 17(46):613–38.
- [14] A. Stakhov, The generalized principle of the golden section and its applications in mathematics, science, and engineering, Chaos, Solitons & Fractals (2005), 26:263–89.
- [15] A. Stakhov, Fibonacci matrices, a generalization of the 'Cassini formula', and a new coding theory, Chaos, Solitons & Fractals 30(2006), 56–66.
- [16] Z. H. Sun, Expansions and Identities Concerning Lucas Sequences, The Fibonacci Quarterly, 44(2006), no.2, 145-153.
- [17] S. Vajda, Fibonacci and Lucas numbers, and the Golden Section. Theory and applications, Ellis Horwood Limited, 1989.
- [18] http://mathworld.wolfram.com/LucasSequence.html.
- [19] http://mathworld.wolfram.com/JacobsthalNumber.html.

Received: October 4, 2007